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QUESTION 42.
Choice D is the best answer.

QUESTION 43.
Choice C is the best answer.

QUESTION 44.
Choice A is the best answer.

Section 3: Math Test — No Calculator
QUESTION 1.
Choice C is correct. x
y x + y    

           
x + y               

     

            
       x  y    
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QUESTION 2.
Choice C is correct.         
(x +   x +         x + 

           
  (x +           

      ( x +      
          
 ( x   

         
     x    x        

      

QUESTION 3.
Choice B is correct.        y – x    

     x _    + y      x =   x _      x    

  (            
 + (       

        y = x +  

 x +   y        x _    + (x +  =  

           x _    + x +  =  

   x +   x _        x =     x   

 y = x +   y =      (     
      

             
            

x = y  

QUESTION 4.
Choice D is correct.       

     + i – i  + i   i =   
_

      
 i  =   –   i       

  + i +  + i       + i

             
 i         

QUESTION 5.
Choice A is correct.  –   x      

f  f (  =   
(  (  + 

  __ (         

       +  +  _           _     –

             
     –   x
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QUESTION 6.
Choice C is correct.        

             
 x             

           
t         – xt       

           – x =  
   x       = x    

       x =        
          

           
 – (   

             
               
           

            
             
               
           

            
             
 –           

     

QUESTION 7.
Choice B is correct.          

            
           x  + x +   

  (x +        –     
  x  + x +  –      (x +  – 

          
     x   + x +  +      

x   + x +   x   + x +         
        x   – x +  +  

    x   – x +   x   + x +    
         
    x   – x +  –      

x   – x +   x   + x + 

QUESTION 8.
Choice C is correct.            

               
                 x 

                
          x +    
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            ( x +  
   ( x +       

               
 x +   (x +           

      (x +       
      x +     x      

               
     

             
               

              
       +  =      

             
       

QUESTION 9.
Choice B is correct.    x    y  

           x + y   
            

            
            x  y   

  x + y         
            x    

y             

           
x + y            
             

             
        x + y   

QUESTION 10.
Choice B is correct.        x + f   f  

             
   x + f    R       

    P(x  = ax  + bx  + cx + d  x +    
 P(x      P(x  = (x + q(x  + R   q(x   

      R     –      
  P(x  =     P(–  = 

 P(–  =   P(–  = R     R =     
x +      P(x
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      P(x  = ax  + bx  + cx + d    

 x –     (    P(x  = (x – h(x    
  h     P(  = (  – h(  =     

            
           

      x –       P(x

QUESTION 11.
Choice D is correct.  x    y    x     _       y     _       

    
_

 x      
_

 y     x   y        _ x        _ y    

         

    
y  

_
 y  
 _ 

x     
_

 x  
  

            
      x    y  

   x =   y =          

    _                 _          _       

QUESTION 12.
Choice B is correct.         xy  

            
            
        x     

   x   f(–  = f(–  =   x   

     
(  + (

 _    = –         

    –

            
       x

QUESTION 13.
Choice D is correct.         

      x –     
x   x   = x   x + x         
x(x –  + (x –  –        

   
x(x   + (x    

  __  x     =   
x(x  

 _ x     +   x   _ x         _ x        

    x         

x +      _ x    
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QUESTION 14.
Choice A is correct.  x           

     x         
  ( x + x   x          

            
              

   x +     x      
      x    x     

  x          
  x         x     

            
     

QUESTION 15.
Choice D is correct.        _      

        _    (x      x  –  

           
(x    

_
     (x +   

_
       k     

_
    

     k         

     _   (x  (x +         _   x      _        _   x    

          

    (x –  (x +        

          

     _            _   (x   

QUESTION 16.
The correct answer is 8.   x +     

 x +            
(x +  =           x +  = 

QUESTION 17.
The correct answer is 30.        ∠QPR   

 MPR  ∠QPR       
             

     ∠MPR          
       ∠MPR    

         MPR      =  
      ∠QMR  ∠NRM       

MP = PR       MPR    ∠QMR 
 ∠NRM            
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     ∠QPR         

 ∠QMR  ∠NRM            
  

QUESTION 18.
The correct answer is 4.           

             
      

QUESTION 19.
The correct answer is 8.        
(         y = m(x       

 (          = m(     m =  
   m        y = (x –   
 y = x +   b = 

          

              _      =      

      y = x + b   (       
 = (  + b        b  b = 

QUESTION 20.
The correct answer is 6632.       

   + y  + y       
 + y   y          

y  +        ay  + b   a =   
b =   a + b =  +  = 

Section 4: Math Test - Calculator
QUESTION 1.
Choice B is correct.             

                 _   

              
              
               

              
             

QUESTION 2.
Choice A is correct.       

     x    + x       
 x   


